KEFELZZRAMNII0BAFLESETE THI " SH4ES AR
WRADEE (B f:m)
#g B TEE REZE i =3
EAME 6,170,000 6,170016] A 16 I ]
, EVIES 100,000 100,000 0| AIRESEERIELY o
- BEs 300,000 545,000 A 245,000 BB R FHM i
Z0fts 50,000 70,043 A 20,043 AEXBOWHHOEFEF
a5t 6,620,000 6,885,059 A 265,059
XHDEE (BE:M)
EX-ES ¥l B - L] (ZE3E) Y & =
EAK 100,000 69,300 30,700| AR (1R S EHE1634. B HHE318%)
. [BFERK-ALKER 150,000 146,839 3,161 |BFR-BHLK—K, SERER - 5. O1F. BER
f® RRE— 150,000 | 150,000 , ol -
B Joysa 100,000 74,800 25,200
= | EBE 30000 13610 16,3901 oK. §1F . XA FIHR., EE ]
NES ] _ 30,000 | 8,312 21,688|H % ]
= |FEIFE 20,000 36300 A 16,300] - - -
Z Dt 50,000 31,694 18,306 | RREK. £8, #x
& % 630,000 530,855 | 99,145
[ZEZ] # B FHE (RHRE) P i =
* |BREISE 3,341,778 | 3,342,643 A 865 7RSI o8 —8R
: [EE& 150,000 | 152,460 A 2,460\ X%, BERZEF
B 250,000 274,120 A 24,120 - T B H _
T = B 3,741,718 3,769,223 A 27445
EXEl gf B FER (ZERE) R =
¥ OEHE 400000 ] 440,550 A 40,550 LE#E(ER) . _
g 150,000 165,000 A 15,000|dLEER B (£/70) FriA)
A - 50,000 | - 50,000 | i EIREE/ Ly
& 3 600,000 605,550 A 5,550
E3- S #H T (ZHRE) e i =
% |KIERE 200,000 740,564 A 540,564| ZE. EBERAAT—UA. ER. BAES(TRRRSHE)
2 |Ee#E 1 300,000 334112 | A 34,112|G86F: BAPEK
s |(BWEF% | 100,000 | 84,700 15,300} o
5 B 600,000 1,159,376 /A 559,376
E-ES # B TE5 ZHRE R i =
T lEt+ER 600,000 662,140 A 62,140{350f ., i+ EFRBEREBE. RABKRF)
2 BiER 20,000 0 20,000{CD (RAIEBEERK) N
A
& ¥ 620,000 662,140 A 42,140
#E FEE ZHRE 18R EE il 3
FEE 428,222 40,000 388,222 | BIKEEA . FELVBIIL
& H 428,222 40,000 388,222
L & & | 6,620,000 | 6.767.144 | ‘ |
WX5HE (E:m)
IRA DER 6,885,059 [
X H DA 6,767,144 [(®
E5I1BE 117,915 (D)~
_ _ - EH HEBMEAN 100,000
[HXHEEZERER]
AR 6,864 RR&EERAEN 17,9158
=Ein 79,200
FEERRT—TE 264,000
SEETIE-fER 38,500
=S 352,000
B 740,564




i
I
®
of
L

#7110 BERAFE SHERI W TRER Il ER% %
BELELZAS, BRIAZETHILOLBOIT,

om K& § A 77N




